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In the experiment for tossing a regular coin twice, O e delatie 5o dalad (W &y 2 B

the probability of appearing a Tail in the second toss PSS 0gb Szt ¢ ol
if a Head appears in the first toss equals : ............ Lol (33 50 gl 13 A5 Ls )
.................... - o L;ﬂ\
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If X is a normal random variable whose mean (1) | Lanb Glgte 3o~ O 13

and its standard deviation (o ), O bl @5l W alan sie
thenP(X 2u+150)= .......... (G\,°+H<-\J")Jdp
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Answer only one item from the items of this ¥ =g ¢ 1= e S OIS
questions : ="l v g
If Yx=6,Yy=21,%x*=76,%y*>=91,Yxy=56andn=6 1= 01 o K

I ||d Iil S' I h l l(’,-bb&-’" 5’! ",.g: >24’ N S [ ! . > “.
the values of X and y g.)"" fja"j\ jﬂ\—d)y\ LA\&A J> ol ;ﬁ \
l - 4 &) L)

(second) The regression line equation Y on X i

(o e 2 sl Lo Dolas sl 56
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n If D is the difference between the ranks of each rﬂ\ ) e O e <o\S 13
corresponding values of the two variables X and Y 02 ¢ o O yeieial) Bzl
, > D? = 0 ,then the correlation coefficient ( 77)

5 T . Y 3 .
between X and Y equals ............ LY Jalas 0B o= KIS,

.......... So\us 92 ¢ o O (07)
@ _1 @ 0 B @ \- @
&L &1 NMOBE.
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A box contains five identical cards numbered from dad e dlilate SBlay pues- 4 B9

1 to 5. Two cards are drawn one after another with 58015 OlBley s 0 N e
.replacmg. Find the probability: ' Il Al ¢ J»}M@ &,
i) The sum of the two numbers on the two cards is o 2l sl . }g‘ 3 (i)
a prime number. s S ,G > el
i) The product of the two numbers on the two sl Iaae 8l d\" B
cards is less than seven if their sum is a prime el S el 058G 0l (1)
number. 3LV e BT ppladl e oy allall
sl Lege sazea OIS
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If X is a continuous random variable whose prob- | 215 Wz u i e~ O 13
ability density function is: PPUN FRNE-Hi g
x+1 . v+
f(x):{lz 0 <x<4 £> L ww}=(u~)>
zero ,otherwise Adlas Ld o e
Find: () P(x <2)  (i)P(2<x<05) (v >~ )3 (1) amsl
(0 >~ >Y)J (i)
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1
If P(A|B)= 5, P(B) =1,

then P (ANB) =
4
25

W (=D oS

. il S(o NP)Y ok

@ 50O
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E If X is a discrete random variable whose range is olaie (51 it aza o O 13)
{0, 1,2} ,then all of the following functions does
not represent its probability distribution function
except the function ..............

ang\éj,ﬂ\xxngégﬁx
................ A oe b

@ f(x) - x28+1 @ f(X) O 2x3+1 \+Avuu X (u‘)-’ @

©f=—= @ e === Sl () @
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ﬂ Answer only one of the following items: 1 eI N (oG (32T G | (e
A) If X is a normal random variable whose mean | Gauds Bl sie Ve~ O 131 ()
p = 15 and its standard deviation ¢ = 5 such adl oty Vo= U plusd) alaws

that P (X <k ) =0.1587, then find the value 0=0 5 Ll

of k ~,\0AV:(5>-\;~)JC;.:>9
B) If the lengths of 1500 students follow a normal 2 Aad dm

distribution whose mean is 175 cm and its o5 I vor s Jhgbl wslS 131 (L)

standard deviation is 5 cm, find the number of o Ve dawgie Lol B g3
students whose lengths are more than 180 cm. A9 L v 0 (8 el 4Bl 5l

V.@\jﬂ L3 ol Okl sas
o VA e
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If A and B are two independent event such that :

05 pekiten e o ¢ P oS 13)
P(A)=0.2,P(B)=0.6, then PAUB) =

&

OB 1= (0)d L v=(D)d
............... _(LUNY

RO o (D
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If Z is a standard normal variable such that : Ut Cabiitane ~e ol 13
P(—a<Z<a)=0.874,thena=......... GAVE= (P> e = P £ o
............. =Pob
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From the data of the following table:

X

60

50

10

20

30

40

PR IR PR [JCA W

Y

80

90

50

60

70

80

a9 v, My,

\ .

O«

14

s

Find Sperman’s rank correlation coefficient

between the two variables X and Y and determine

its type .
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JR] Find the mean and the standard deviation of the oo bl Bl asYly Jaw szl ds s
random variable X from the following probability (S Sl S, <l
distribution:

e 0 1 2 v v ) -
1 1
fCer) 3 %2 B E | vy | T |
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